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No HEE ENE | 5AE | BIE [ BAE | BME | BAE BRERAESH | N2
1hRFEHRBE 0.05 0.07 0.04 0.05 0.04 0. 05|t ==& 5
A0#FT LAFEREE 0.05 0.07 0.05 0.07 0.05 0.06|ZEEODHLERENT 5
JFFEREE 0.05 0.07 0.04 0.07 0.05 0.06|AOFm0niE 5
MERE—FERBE 0.05 0.08 0.05 0.06 0.04 0.06|xo—7TF 5
SIEE—_FEREE 0.07 0.09 0.05 0.08 0.05 0.07|/dkE=ERENT 5
6lItFE—FEREE 0.04 0.05 0.04 0.05 0.04 0. 05|15 A 5
NItE—FEREE 0.04 0.06 0.04 0.07 0.04 0. 05|exsEB B F 7
S LFEREBE 0.03 0.07 0.04 0.05 0.04 0.06[dbh REREE VT 5
IEE—FEREE 0.04 0.06 0.04 0.06 0.04 0.06]|4 k1 L1{E 5
N EE—FERBE 0.04 0.05 0.04 0.05 0.04 0.06|m=xEA 5
NMAHBAZEREE 0.05 0.07 0.04 0.06 0.05 0.06|AD 5
RIRARFEREE 0.04 0.08 0.04 0.06 0.05 0.06|m=xEA 5
BIEEFEREE 0.04 0.06 0.04 0.05 0.03 0.05|x=EmmELT 5
4 EAREEREE 0.07 0. 11 0.06 0.08 0.07 0.08[;HM2EANETD 5
15| TEFEREE 0.08 0.14 0.06 0.09 0.06 0.08|dkEEARE LT 5
16| FEAFEREE 0.04 0.06 0.04 0.05 0.05 0.06|kDTF 5
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